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Import numpy as np
@ F—HD%ESR
(CCT(E. h, w Z %)
h =np.array([160, 170, 160, 180, 170])
w = np.array([60, 70, 50, 70, 60])
® numpy @D corrcoef ZFRAU\TCHHBEGZREITIIZE T
print(np.corrcoef(h, w))
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LL1. 0. 78571429]

[0. 78571429 1. /]
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import numpy as np 5145 UDA > i— b~
h = np.array([160, 170, 160, 180, 170]) _. e pan
w = np.array([60, 70, 50, 70, 60]) T — Y DR
print(np.corrcoef(h, w)) ARG EDE

d—FK

° import numpy as np
h = np.array([160, 170, 160, 180, 170])

w = np.array([60, 70, 50, 70, 60])
print (np. corrcoef (h, w))

L[T1. 0. 78571429]
[0. 78571429 1. 1]
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Fiadibise Lok

import matplotlib.pyplot as plt SATSUDA H— N
from sklearn.datasets import load iris _ .

iris = load_iris() X, y (cO—F,

X = iris.data (X (& 2 RTDEHI .

y = iris.target y (& 1R oEes!)
print(x) ==

print(y)
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import matplotlib.pyplot as plt

(>

from sklearn.datasets import load iris

¥ = Iris.data
v = Iris.target

print(x)

iris = load iris()
print(v)
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Iris =—~twv a0, 175 {
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import matplotlib.pyplot as plt SATS5SYUDA > Rk—
from sklearn.datasets import load iris

iris = load _iris()

x = iris.data IrisT-—A5tzwv bz
y = iris.target O0— R

#O77

glgitjtfr()([:’ 0], x[:, 1]) HSIDHRTE
plt.xlabel(iris.feature_names[0]) (0515 MHiERE(C)

plt.ylabel(iris.feature_names[1])
plt.title('lIris dataset')

# IR _
plt.show() =2
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° import matplotlib.pyplot as plt
from sklearn.datasets import load iris

iris = load_iris()

¥ = iris.data

vy = iris.target

L R

plt.scatter(x[:, 01, =x[:, 11)
S EaN |V,

plt.xlabel(iris.feature_names[0])
plt.ylabel(iris.feature_names[1])
plt.title("Iris dataset’)

t F=n
plt.show()
Iris dataset
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import matplotlib.pyplot as plt
import numpy as np

from sklearn.datasets import load_iris
iris = load _iris()

X = iris.data

y = iris.target

np.corrcoef(x[:, 0], x[:, 1])

° import matplotlib. pyplot as plt
import numpy as np
from sklearn. datasets import load_ iris
iris = load_iris()
X = iris.data
y = iris. target
np. corrcoef (x[:, 0], x[:, 1])

, —0.11756978],
1D

array ([[ 1.
[-0.11756978, 1.
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° import matplotlib.pyplot as plt

f k| .dat ts i t load iri 4 =
e e e ° import matplotlib. pyplot as plt
. :::z-jzﬁ:et import numpy as np
t 9537 from sklearn. datasets import load_iris
plt.scatter(x[:., 0], x[:, 21} . ..
S~ iris = load_iris()
plt.xlabel(iris.feature names[0]] ..
plt.ylabel(iris.feature names[2]] X = 1ris. data
plt.title("Iris dataset’) . .
R y = Iris. target
PIT.showl) np. corrcoef (x[:, 0], x[:, 21)
Iris dataset
71 . array ([[1. . 0.87175378],
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from scipy import stats
@ F—HD%ESR
(CCTl&. samplel. sample2 % %4)
samplel =[86, 93, 91, 89, 92]
sample2 =[77, 81, 84, 85, 80]

® scipy D ttest_ind ZFHUL\T t I RE &= K/
t, p = stats.ttest_ind(samplel, sample2)

@ plEDIRR
print(p)

Fiadibise Lok

° from scipy import stats
samplel = [86, 93, 91, 89, 92]
sample2 = [77, 81, 84, 85, 80]
t, p = stats. ttest_ind(samplel, sample2)
print (p)

0.001670538621824343

pfE <0.05H, HERDOIHONBEOHZEWDSER LS




t #27E (Google Colaboratory) {

Fiadibise Lok

from scipy import stats AT SUDA R— b
samplel = [86, 93, 91, 89, 92] 5 — A DR
sample2 =[77, 81, 84, 85, 80] t MEDENS
t, p = stats.ttest_ind(samplel, sample2) _
— E >
print(p) P BEDFRR
d—R

° from scipy import stats
samplel = [86, 93, 91, 89, 92]
sample2 = [77, 81, 84, 85, 80]
t, p = stats. ttest_ind(samplel, sample2)

print (p)

0.001670538621824343
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